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B. A/B. Sc./B. Sc. B. Ed. (Part 1§)
EXAMINATION, 2020
MATHEMATICS
Paper Second
(Calculus)
Time : Three Hours
Maximum Marks - 50
Hte : DA G AT DL E T
BT | ot w1 & ajw g
All questions are compulsory. Attempt any fwo parts
from each question. All questions carry equal marks.
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Expand ¢2sin”! * by Maclaurin theorem and find the
general term.

@ afe: ‘ _
Y= [log{x +\/1+7”2,

(A-31) P.T. O,
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(14 32) ppyz + (20 + 1) 2y + 12y, = 0.
If: '

s

: : 2
y=[log{x+\/1+x2}:| !
then prove that : s
(1 +x2)y"+_2 +(2n+1)x y,,q +nty, = 0.
e -5 R & var 9 fig Ffdg f
 lim(x2 +4x) =5
_xl_}ml(x + x)

Using € —& method, prove that :

lim (32 + 4x) =5

T2
(UNIT—2)
IR ST AR
P Lx%y 4 2yt —4y+x=07
Find the asymptotes :
P =x2y+2y2 —4y+x=0
qsh : :

y=x3+2x2+x+1
@ fag (0,1) W I~ BT FHGRT ST HIRAT |
Borthe cuive.s. i oo ,
y=x3+2x2.+x_+1-, &
find the equation of the circle of curvature at the
point (0, 1).
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@) @

ay* = x* (a - x)

BT G P |

Trace the curve :
a? =x*(a-x).
ThlR—3

(UNIT—3)

3. (@) j"ﬁii‘—"-—dx BT A ST B |

0 1+ cos? x
Find the value of :
In xsin x
'0 1 + cos? x

(@) waerdl 2 =4gr WM X2 =4by BN qﬁa?a"&?ra

@1 Bwe T BT |

Find the area cnc}oéed by the parabolas y? = 4ax
. : ,
and x? = 4by.

(@) i?f ;c2+y27=a'2 B x0T B URa: gﬂﬁﬁﬁlﬁﬂ

Find the volume of the solid generated by the
revolution of the circle x2 + y2 =4% about
x-axis- .

(A-31) P. T. O.
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(UNIT—4) : ' (@ B P
. 2 " .
4. (31) E‘ﬁaﬂlilq ; : x2_‘;_c2£_(x2+2x)%+(x+2)y=x3ex_
(p? +2D? +D)y = + 3% +x. ' ' '
Solve :.
Solve : P : _
; ‘ y ay ‘
(D3+2D2+D)y=ez"+x2+x. | x2ﬁ~(x2+2x)-&x—-+(x+2)y=x3e".
(@ & B : : - _ (@) BF DING :
/ | .
s 3 2 i . |
(x2y._2xy2)d,x—-(x ~3x2y)dy = 0. v l @+sz+2x+y=0
el ' dt dt
Solve : j _ ‘ :
: | | D sxa3y=0
(xzy—2:gw2)dx-—(x3—3x2y)dy=0. \ T ena=
@) T @Y ' Solve :
s ; '
_)_z—xp.+{pj : i ' @+Q+2x+y=0
: ; : dt dt
Solve : ; : . _
. y =xp* +p. | | : %+5x+3y =0,
(UNIT==5) ?
f /
5. (@) T BN : /
dx dy 3 dz ;‘
7)) R
Solve :
d o e
x(»? - 2%) y(zz'—-xz) z(%? ~¥?)
(A-31) ' . DD-2649 | 5,300
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